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'HQJDQ� GLODNXNDQQ\D� SHQHOLWLDQ� VHUWD� GLGDSDWNDQ� GDWD� GDUL� SHQHOLWLDQ�

WHQWDQJ�6WXGL�'RNXPHQWDVL�6RXQGVFDSH \DQJ�GLODNXNDQ�GL .DZDVDQ -HPEDWDQ�

%DUHODQJ� GL� .RWD� %DWDP 6HEDJDL� 'DVDU� 3HQFLSWDDQ� .DU\D� 0XVLN�� PDND�

GLGDSDWNDQ�NHVLPSXODQ�\DLWX�

�� 'DODP PHQGDSDWNDQ�GRNXPHQWDVL�VRXQGVFDSH GLJXQDNDQ�DODW�NKXVXV�

�� 6HWHODK�PHODNXNDQ� VWXGL� GRNXPHWDVL� VRQGVFDSH GL� MHPEDWDQ� EDUHODQJ� GL�

GDSDWNDQ EXQ\L�EXQ\L \DQJ�GL�NODVLILNDVLNDQ�

�� 'HQJDQ� DGDQ\D� SHQHOLWLDQ� LQL�� GDSDW� GLNHWDKXL� EDKZD� VXDUD� EHUEHGD�

GHQJDQ�EXQ\L�

�� 3HQFLSWDDQ�VXDWX�NDU\D�PXVLN�ELVD�GHQJDQ PHQJJXQDNDQ� LQVWUXPHQ�DWDX�

PDWHULDO�VRXQGVFDSH�

�� 'DODP� SURVHV� SHQFLSWDDQ� WHUGDSDW� WDKDSDQ� NUXVLDO� \DQJ� KDUXV� GL�

SHUVLDSNDQ��VHSHUWL�,GH�NHPXGLDQ�HNVSORUDVL�

%� 6DUDQ

6DUDQ� XQWXN� SHPHULQWDK .RWD� %DWDP VXSD\D� PHQLQJNDWNDQ� HYHQW� EDLN�

GDODP� EHQWXN� PXVLN� DWDX� SHUWXQMXNDQ� PHOD\X� GL� 'HQGDQJ� 0HOD\X��

NDZDVDQ�-HPEDWDQ�%DUHODQJ�


